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Paf‘t-B — General Intelligence and Reasoning

ag]mrrésass'n :101-140
Questions : 101-140

—

101. Choose the best alternative as the answer.
A factory always has
(A) Electricity
(C) Workers

(E) Answer not known

(B) Chimney
(D) Files

Bessflurer wrHm elenLemwis Caiey Q&u‘.wa.
@@ Qamfihsreauie criQurgb @ mUUg

(A) L‘-r"fv;"m'?’"f}Lb B) ywsGursd "

(& Qsmemeriaer | . (D) Gsmuyser
(E) ofen QsfNwelcrenen

102. The total number of digits used in numbering the pages of a book
having 366 pages is .

(A) 732 ) . (B) 990
(C) 1098 (D) 1305
(E) Answer not known

366 usshsd OCerarL @@ LsSESI e LUSSRIGOET  cTamameuSe
uweTu @SS D G\Lorrg,g, @mé,asrélasﬂﬂm craenil&Eans ereucueTay?
(A) 1732 2 (B) 990 '
(Gr 1098 (" 1305
(E) ofen QsMweciidrene .
— | - oy
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103. s=provkg754sPLVS@MUEG6TQGIIETY

e

Which of the following is exactly in the middle of ninth from left end

and fifteenth from right end in the above arrangement?
A) #
B 3
© P
(D) L |
(E) Answer not known

geu LSS mbs fEUSTAIE QL LA b U@""“'M“Q’@ Bew
’ F
@reamg Hsh widle e.draTg) ergy?

0=fF2*KSI5#3$PLYS@MUEG6TQG93&TY

(A) #

®B s
© P

D) L

(E) e Qsflucidaa
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4. A dog runs ! "
° turnf to ;lesftso feet towards South and turns to left runs 20 feet and
runs 7 feet and again turns to left runs 6 feet and then

turns to ri
. 1(}rlz’,’ht'; run.s 15 feet and finally turns to right and runs 5 feet.
ow which direction is the dog facing?

(A) East (B) North
(C) South (D) West
(E) Answer not known

@M prureng QgnE dHae Cpredl 50 o gmb guu 9pE GLg UDD
A@w 20 @ig gird @G Apg Ban@w Grg Lpb AEnE 7 iy SITD QW
9@, @Lg upb HmbE 6 g gipb ¢HEDs. SemEb g Db Hmbl
1§ Sig b @uu 9nE @ndwurs g Uob HmbEa 5 By g1Td @EHDE.
sHCung oibs FML s Hang Crrad @(mE@D? '

AL Syse B) aLs®

(C) Qsp& (D) Gup®

(E) e Qgfluisiideme

105. If A is 50 m north east of B, B is 50 m north west of C, then C is in
which direction of A?

(A) North (B) North west
(C) South - (D) South west

" (E) Answer not known

A oem B &5 auLdlpsE Haosdd 50 & gsdas B wyaim C &
L CupE Hosuild 50 b gnrlgé,@ub @ouder, A &5 ops Hosfo

C @mé@w?
A) aLss . B) abupe
C) Q@spe& (D) GparCupe

(E) e QsMwaiidema
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104.

105.

i\ dog :uilsf50 feet towards South and turns to left runs 20 feet and
urns to le Lruns 7 feet and again turns to left runs 6 feet and then
turns to.rlgllif runs 15 feet and finally turns to right and runs 5 feet.
Now which direction is the dog facing?

(A) East (B) North

(C) South (D) West

(E) Answer not known

@M prunarg Q@ Has Crrsd 50 @iy smb guu YDEG @Lg HOWL
A@w 20 sig gryd @GApg Bar@nb @rg ypb AdE 7 Sig SO @gw
Ape. @Lg upd AedA 6 oy gD OSDPE. BarOL weg L AEHA
15 =iy s @uw GYnE @ndwuns g Uph HmbA 5 iy girb @OEDS.
sHGung Sips Bl aphs Has Crrad @) msEWD ?

A Syse (B) aiés

(C) Qsp (D) Gupe

(E) e Qzfuicficvens

If A is 50 m north east of B, B is 50 m north west of C, then C is in
which direction of A?

(A) North (B) North west

(C) South (D) South west

" (E) Answer not known

T

A oam B 65 e dpss Hewsuder 50 8 gmgdaid B geg C &
L GupE Sosuded 50 S gmsdad Q@uden, A 55 aby HasOe
C @mé@n?

A) aLse T @B aCups

(C) QGsp& (D) QGgenGuofs,

(E) oferr Ggflweicrened
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106. Seven executiveé P,QR,STU and W reach office 1n.a particular
, re P but does not 1rnrnedjately

Sequence. U reaches immediately befo . i
follow S. R is the last one to reach office. T follows immediately aftq,

: ks fourth i
P and is subsequently followed by W. Who TamEs I the

i

Sequence of reaching office?

A) w
B) U
C) T
D) P

'(E) Answer not-known

GJ(L;; Breunflsar P, Q, R, S, T, U wppw W @Il afamsgy
SQavssang s fepernt. U, P-s@ @er 2L anquns G“i"ﬂ)@l—@,mm‘r.
Spamd  S-epw 2Lanpurst  Gantgrigeideme. R grer  sevfluns
Sigaussms s fpmi. T aameir P-s@u Gne Ger Qam_rdpn whmym

W aerueur T-eow Qe Qgridlemmmir. erarCau, BIfiSTeUsns sigieuassams

SHDLHFEUN WMt ?

A W
B) U
C) T
i D) P

(E) e QsfAweldena
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107. According to a code language, words in capital letters in Column I

e e

= ritten in small letters in Column II. The letters in Column II
are jumbled up. Decode the language and choose the correct code for

the word given as questions.
| Column I Column II
() CROWDY (a) blooppv
@) SOUND  (b) jkegotv

(iii) CRUX () ijktv
(ivy CRONY (d) ikmop
(vv NET (e) cymv
(vi) ADDRESS () abi

- Find the code for NEET

(A) abbi | (B) baai

(C) biia (D) ibba

(E) Answer not known
GOSL® CQumfllariyg Qearaumb CaamelsErsEl ufwalss GQeraimbd
ssaumal Lgssajb, Column I @d 2drer QuAlu asded o drer Qempaer
Column II @& fflw awsded eawsiupererg. Column II & o drer
TSHsET  smabg Qearsslul@ererg. Gwmfew KGasml  Qswg,
Qar@ssriul L Caarelsarear sflwuner ghuil e s CsibQsH&EsayLD.
Column I Column II
i) CROWDY (a) blooppv
(i) SOUND (b) jkgotv

(i) CRUX (¢) 1jktv
(iv) CRONY (d) ikmop
(v) NET (e) cmv .

| ‘(vi) ADDRESS () abi
NEETs@é sflwurar @HluSiamsé samflueayd.

(A) abbi (B) baai
(C) biia (D) ibba
(E) ol Qsflweidene
101 GST2AM/2025
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A .1 s diffe -om others.
108. Choose the number group which is different fror

(A) 71,7, 3,17 (B) 67,71,3,5

(C) 41,5, 3, 47 (D) 37, 14,19, 7

(E) Answer not known

Spssngmb aamsaid CaupUlL T&T GUal THHIS.
A) 171,17, 3,17 (Bf* 67, 71, 3, 5
(C) 41,5, 3,47 (D) 37, 14,19, 7

(E) e Qsfluefdame

109. Choose that set of numbers from the four alternative -sets, that is
similar to the given set : (81,77, 69)
(A (56, 52, 44) (B) (64, 61, 53)
(C) (75, 71, 60) (D) (92, 88, 79)

(E) Answer not known

£Gp Qer@ssuucBerar Asn@riysaild, (81, 77, 69) erergyib Qzm@EuGne
Qaoanuraiewss CsipQsDés :

(A) (56, 52, 44) (B) (64, 61, 53)

(C) (75, 71, 60) (D) (92, 88, 79) - -

(BE) eferr Gsfueidaa -

Ll

GST2AM/2025 s ToB



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

110. In the following questions, go
alternatives, which when pla
complete the pattern,

(A)

(©)

(E) Answer not known

ER

O

Gl

GET IT ON
Google Play

lect a figure from amongst the four
ced in the blank space fig(X) would

Qeéraumb Caacll@o, preng wrnppsaid Amps e.ouposs CarpQasBis
aayur (X)-98a e drer Qaupfi gans Hriiys.

(A)

©)

(E) e Q;stﬂmaﬂd:w_m

1

o

IS

e

(© o

@ E’J Oj

\9@ ?
(B)
(D)

103

X)

X

N

Q)

QLY

9 |
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“ o1 e” Of the fi
111. From the options, choose the correct “water-1mag nehg (X).

—

X)
(A) @t - ®

©) , D)

(E) Answer not known

Qeeumid eflenmales, @b Qupmerer LLb (X)-ar shwer BnAbuganss

Caiiey Qouis.
| : (X)
> 3Bf ™ 3§E
| ©) (D)
(E) Qe Qg;rﬂu_naﬂd)am;
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112. Choose from the options the correct mirror image of the given figure.

PN
° A

(E) Answer not known

Qan@&stiulL uLgdar sflwner serarmmg. NDLD ETETs.

® &
®) A

(E) e Qpflweiidvee

A

(B)

(D)

A

(B)

(D)

1056

A

Y

A

v
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113. Statement : Smoking is one of those human eSses Whlch

tend to test the will power of the smoker to the edge

Conclusion: I. It is very difficult for the smokers to Zive w |

smoking even if they want to do so.

II. Human beings have other weaknesses as well,

P—

PU——

A) If onl); conclusion I follows
(B) If only conclusion II follows
©C) If neither_I nor II follows
(D) Ifboth I and II follows

(E) Answer not known
Fpp :  yes  Ggliug weflgafler  Leianbd @&, S8 @(meuafia
senanbliléams Gendésib.

o»pyey: I Hs Gy liueuis@réE —Sieuiser el Narmgyib S
eflPeugl Wseyb &g aib.

11. weflgiaenéE Coumy fo UeaSerhis@sib &é‘m@.
A) wge I sh
(B wpyaey II o
©) wyey I-v @b IT-ip NI
' § D) wuey LI s
| (E)  efleni Qpfuefcbanes
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, 114. Which word of the options cannot be formed using the letters of the

P IR Y W ey

T

following word :
ENDEAVORS
(A) VOTE
(B) ROSE
(C) END
(D) DONE

(E) Answer not known

Gemeupd Qsmpsafies ‘ENDEAVORS' aanp Qamddlar erpsgisaiad®hs

e (HEUTES (PiyWINS GQamed ergl ?

(4 VOTE
(B) ROS.];J‘
(C) END
(D) DONE

(E) ofer Qgflwailcbane

107
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115. These questions are based on the following information :
(1) ‘Ax i3’ means ‘A ié Mother of B’ -
(ii) ‘A + B’ means ‘A is Son of B’ |
In B x J + P, how is B related to P?
(A) Mother
(B) Uncle " o
(G Wife
(D) Daughter
(E) Answer not known
@5 Caaraflse Waaimb soabsmean alq.lllumL_u_er‘asés Qanam_ena
(i) ‘AxB aeug ‘A aeéug B Wer gmi’ |
(i) ‘A+ B aarug ‘A eeug B e waer
BxdJd+Pe B eaérug P- oeén GTGUQJF;Q] Qsriyerwg)?
(A) smu |
(B) wmonr
(©) vead
(D) wser

(E) dfleor Gsflualdeame
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116. Find out the right option for conclusions to the statements given.

T

Statements : All candles are lamps
All lamps are bulbs
Conclusions : 1. All candles are bulbs

(A)
(B)
©)
D)
(E)

II.  All bulbs are candles
Only I follows
Only 11 follows
Both I and II follows
Neither I nor II follows

Answer not known

QarPésuiu’ L sflsassallar  uasEssstar  sflurer  ABUUS®S

s Hlwa|b.

Sfsamssd :  aor QuEaisdsEpbd ellaéEse o EGb

e eflaté@s@sb Weatellans@Gaer @b

woasar L ader Queuisdaab Werelad@asr @b

[I. aoor Haalers@s@b QwwEuTsHsdr o, Eh

(A I o Qargsssss)

(B)
(©)
(D)
(E)

IT we @b AsTTssss5

I wpmw II Qgmrssées
I wpmib 1T G yssébasde
Aen AgMweildena

109 GST2AM/2025
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117, Find the missing number

(A) 3
B) 9
©) 1
(D) 2

(E) Answer not known

aﬂ@QLL_ @Lgeng Hlyiys

A) 3
@9
O 1
(D) 2

(E) ofler QpMwefidrena
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118. In how many ways a committee consisting of 3 men and 5 women
can be formed from 5 men and 6 women?

@A) 15 B) 30

(C) 60 D) 19
(E) Answer not known

5 gamset, 6 Quansafidimig 3 wyamsdr, b Quansd AsTETL @ GO
app@an auflsafld CsipQsdasmmb?

A) 15 (BY) 30

€ 60 - (D) 19

(E) ofen Qsflweiidvana

119. A box contains 2 white balls, 3 black balls and 4 red balls. In how
many ways can 3 balls be drawn from the box, if atleast one black
ball is to be included in the draw?

(A) 32 (B) 48
(C) 64 | (D) 96

(E) Answer not known

o® Quiyuie 2 Qeuctenar Hip upgIEEnd, 3 sBUY Hp ubgisEsd 4 fsiy
B upgsHEHD 2-CTETET. GOPHFULED R H®HUY Ubg dare 3 upgsaer
a[Hés CauagmBOwaild asgemar auamssaledy Seupep THESQMD?

(AN\32 (B) 48
(C) 64 (D) 96

(E) e Qsfwelldame

T
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120. In the given figure (i),(ii) are related to each othe

@

(ii)

®

(ii)

=

A

Q

A

/a\
1

d

=

(A)
(B)
©
(D)
(E)

&Gy Qasrpssuur@earer garCGopr@ureny sbupsiuc (1), (11) uLmseiy |
QurmsswHp UL Sss saT[B LY. |

@)

1
2
3
4

Answer not known

1

(i)

| E

R

)

(i)

(¥

(ii)

GET IT ON
Google Play

X

p<

r. Find the odqg ong

/AN
rl

d

| | (A
(B)
©
(D)
(E)

1

L
2
3
4

eflenL Qsflweléreney

GST2AM/2025
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121. A piece of ice floats on water.

T

(A) Often

(B) Sometimes
(C) Never

(D) Always

(E) Answer not known

o vallss g ganaiilod Wgsdng.
(A) <Sigssy

(B) S Cprrsaid

(@ o@Curgib deLwrg

(D)  ersGungyd

(E) ofen QaRwchidvera

~ 113
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122;

A

123.

il
: boys. If = |
In a class % of the students are girls and rest are Doy 5 of the

GET IT ON
Google Play

girls and 1 of the boys are absent, which part of the total numbey ¢
4

students is present?

D 7
AY =L
(A) oF

62
Q) 24
© 100-

(E) Answer not known

77
100
50
100

(B)

D)

86 weudd e dmaiselo % uriE wreeellser. B 2 drareunsg,

1 . . i ,
OTEMeUTSET. Deuisafle g U@ rewTedls@pLb Z UM LOTERTeuns @i

uetaflée aureloeme aafld aeiauaray uri@ wraveuisar (Boys and Girls)

udrafls@ eubg eraranit?

17

25

62
) —
© 100

(E) e QsAweforena

Choose the correct alternative :
ab__ __baa___ ——ab___
(A) aaaaa

(C) aabab

(E) Answer not known
sfluner wrhep Caiay Qsuis,
ab___ __baa__ —ab

—

(A) aaaaa
(C) aabab
(E) e QsAweldena

4

77
(B T

50
(D) 100

(Bh.aabaa
(D) baabb

(B) aabag |
" (D) baabb

n
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124. Study the diagram below ang identify the region representing youth
who are unemployed byt not educated,

Educated

:
L
|
t
k
:

(A) 2only
(B) 6,7
©C) 2,5,8
D) 5,8

(E) Answer not known

8Cp edter aeruLmsl URsE umisg, @QHo Caumaulderg spearmed
U &ETE Qe Eismand GN&ED LGHows samHlweyb.

Agﬁ‘
N,

CauamaweLGuim
' (X)) 2 wr@Ew
; (B) 6,7
C) 2,5,8
E‘ D) 5,8
% (E) oflan Qgflweildvane
g © s GST2AM/2025
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125. The following question is based on a dice numbered 1 to 6 j,

different ways as indicated.

If 2 is opposite £o 3 and adjacent to 4 and 6 then which of th,
following statements is necessarily true?

(A) 1 1is opposite to 5

(B) 4 is opposite to 6

(C) 4is adjacent to 2 and 6

D) 1 is-adjacent to 2 and 3

(E) Answer not known

1 wpsd» 6 ey aamafl_uulGearer @m UseLmws sHhEHD Qster
edenLwef.

aanr 2, 3 &5 adfigdb, 4 wHmb 6 &s SHEAYID @) (B etr &gpésaséfam
SadMI&@EHET eTg &2

(&) 1,5 55 adfe Q&G

(B) 4,685 adfle Qmaab
(C) 4,2 &&b 6 &b < mdd B (md @

D) 1,250 3 s@w ABEHD Qp&@Ew

(E) ofer Qzfuecrene
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126. If A is B’s sister, C is

B is C’ d E is D’s
mother, then how 1S A re S mother, D is C’s father an

lated to D?
(A) Grand Daughtey

(C) Aunt

(E) Answer not known

(B) Daughter
(D) Father

A aerueur Blen 8Gang, C arenueuir Bulr
wpmd B ererueur D@enr g, Yme A
Qsmiiyen_wieu?

(A Cusd . B) wsar
€) wpos

(E) &L Osfluefoena

gmit, D ererueur Cller spheng

eamueut D eoLer eréueummy
D) spars.

127. Pointing towards a woman, Raj said “She is the daughter of my
wife’s sister”. How is the wife of Raj related to the woman?

(A) Aunt

(B) Daughter

(C) Sister

(D) Mother

(E) Answer not known °

\

@ Quameans STily, (TR “Sleud ardr waareluldar sCangMulen e erars
dofflammir, gy eremueuflen wanarell SIRUEHTENISES, ereman e mey?

(A) az8

BY? waer

(C) sGanzf

(D) smy '

(E) ofler QgRwelicrene

T
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128. In a certain code language, ‘481" means ‘Sky in blue’, 246" meay,

‘Sea in deep’ and ‘698’ means ‘Sea looks blue'. What number is t},,
code for ‘looks’?

(A) 4 ' (B) 6

(C) 8 D) 9

S T Sy S R

(E) Answer not known !

e GOUOLL ASLE Gumfuid ‘4817 eerpred ‘e  Few, ‘246
TP ‘S piponerg’ LHpb ‘698 arempred ‘S Baworar Cambmb’ ey

GMsstiul L, ‘Carppsdherer siper GOUSLH Qwmd erener?
A 4 (B) 6 |
© 8 ®f 9 |
(E) oo QsMwelcrenew |

129. Choose the odd one out :
(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ

(E) Answer not known

CaupulL geatens CaoibOsHés
(A) . AEHL (B) BFJN

(C) HLPT (D) MQVZ
(E) &S Gsfluaiideana

n
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30. The same relationghip cheos
1 ationship obtain in one of the 4 alternative given

belmév:

Evaporation : Cloud : Rain

&) Sneezing : Cough : Cold
(B) Accident : Injury : Pain
(C) Tanning : Leather : Purse

(D) Bud: Flower : Fragrance

(E) Answer not known

elwnge : Gusid : we

Qis QoansE Qurmssorer GQaaTows Ggﬁﬁgg@é;a; :
(A) gibwe : @ : sl

B) aﬂﬁgg-: Smud : el

(C) Gare usalBpe : G : uemTlienL

@) Qur@ : wei : FYLOED

(E) oferL Qsflwciicvena®
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131. Choose the best alternative as the answer:
Which one of the following is always found in Bravery?
(A) Courage
(B) Experiences
(C) Power

(D) Knowledge

(E) Answer not known
Wassflwrer wrhm e aws Csiey CFus.
aigsgiLen Qswdupuaflb Spssrarueupmier g sreariiLipib ?

(AN agflwud

(B) si@uaniser
(C) s34

(D) <fley

(E) e Gsflusldmee
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131. Choose the best alternative as the answer

: 9
Which one of the following is always found in Bravery:

(A) Courage

(B) Experiences
(C) Power

(D) Knowledge

(E) Answer not known

Basefwner wrpy HNeoLmwus Csia Cais.

aipsgLen Qewdu@ueuflb EpssTamueubmier ag srenmiiuGib ?
(AN esflwd

(B) <si@ueatsdr

(C) s&8

(D) <ifley

(E) &leor Gsfwucldeme
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- ;32. Which figure in the option is embedded in the pattern given in

|
l

figure (X)?
|_—
11
(X)
—] 1
(A) (B) ﬁ'é
N
© | DA D)

(E) Answer not known
Qsr@aéstiul perer (X) uLgdd aps e (mad LoD b ETETS) ?
@®) @

J&=

—11]

N

(G

i y

/

(E) ofanr ngrﬂweﬁlwmw
121~
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133, Study the following arrangement carefully and answer the questig,
given
RD15E%K3J19P8#A2BSKM6W@N4 oT*7FH

How many such consonants are there in the above arrangemen, l

cach of which is immediately preceded by a symbol and immcdim,.,}y

i

followed by a number?
(A) One F
(B) 1‘“'0 E

(C) Three

——

(D) Four
(E) Answer not known

£Cyp Can(asiulL Gpm @ré scanons ugypz Samdlhe oL welis.

RDISE%}{.’M]QPS#yBi_KMG\V@_N‘i@'I‘*_‘Y FH

Copefulis Qsnfio EHSRLs aaobd HOsssns adrgpd |
Borswomy apsoa QuiUQusysat edimar?

(W pap e\

(BY” @ren®

(C) ey

(D) preng,
(E) S Gsfludiveas

by
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swer the :
133, Study the following arrangement carefully and an Questis,

given
RD15E%K3J19Ps#A2BSKM6Wa@N1oT*7FH

How manv such consonants are there in the above arrangemen,

each of which is immediately preceded by a symbol and immcdime]}_ |

followed by a number?
(A) One

(B) Two

(C) Three

(D) Four

(E) Answer not known

£Cyp QarRésviul L Gpmoars saanons Ly bs dlamahpe Harwelds,

RD15E%K3J19P8#A2BSKM6W@N4©T*7FH

=

CopsPuldie Qsm e EASELs pdambd HEssms adeg
Bosswiy appwe QuUQupsssad o dioar?

(A gy &\
(BY” @oan®
C) ooy

(D) preng
(E) dbec afiudhdaa

i
"
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134, Statement 1 ‘We follow some of the best and effective teaching

learning practices used by leading institutes all over

the world -~ A giatement of a professor of
M.N. Institute.

|
|
E
i
;

Conclusion: L. The M.N. Institute is one of the leading institutes
of the world.

II. Whatever is being followed by world’s leading
institutes will definitely be good and useful.
(A) If only conclusion I follows
(B) If only conclusion II follows
(C) Ifecither Ior Il follows
(D) If both I and Il follows

(E) Answer not known

smpp . prusdr o pepunar, sflurer umll shsEd Hbdphaaer,
eofd e dor Quilu Ppaaisdd Rets Lspps s 384Cpmd

- M.N. Institute Professor.
weei: L. MN. fpeend e ofd edar g@ Hpps Spaand.

1. codd sca fpps Ppeuadsd soLGgied podoma;
pho@usasaib, Lud e dier@autaand R@AEb.

(A) apyea I O of
(BN gopya 1T v of
©) wua l wway Il of
D) opwey | wpg 11 A
(E) Sa Qefuddda
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135. This question is based on the following inform

A # B means A is divided by B
A * B means A is multiplied by B

Salary of Ram is (A) 80% of salary of Ravi is (B).

Find out the right choice to present it :

(A) A= (100# 80) * B
(B) A=80#100#B
(C) A=(80#100)* B
(D) A=80%*100*B

(E) Answer.not known

@bss Cadrell WeTaumd FoHaIDGMET B|q.LImLWTedk CQararLg) :

A# B aeiug) A augssd B

A * B aerug A Qumssd B

gmb eresruiculen augponennd (A) yeluler aumonargfad (B) 80%.

sflwner Caireneu sar_MHs :

(A) A=(100#80)*B
(B) A=80#100#B
G NA=(80#100)* B,
D) A=80*100*B
(E) oo Qzhucidame
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136. Fill in the blanks with a suitable figure from the option given

_ A0 2

© | D) O

(E) Answer not known

AEuLL @Lsdled sflwner uLgdeoand® Hruys

LA ?

© ®) O

(E) e Qgflueiicene
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137. Statement : Nuclear power cannot make a country secure.

Courses of Action

I
II
I11

(A)
(B)
(©)
(D)
(E)

We should stop further increasing our nuclear power
We should destroy out nuclear capability

We should focus on improving diplomatic relations

Only I follows

Only II follows

Only III follows
Both I and II follows

Answer not known

Fphml : e F&HwmD ;_r;rn.'_u.}a'n LITSISTLEU 2 (heuméd (LpigWims).

BLaug sansuller Cunés,

I
II
IIT

pLwg signssdaw Cogid fafcums Hmss Couarm@ib.
2 s&dow fEs CouatT{id

&nsrs 2 peysanar Gubu@sgieudd seuarn Qeeuss Gouam@ib

A) pLaygsos I oo af

B) pragses II wr@n &M

(€ pragsams I11 we @i &

D) pregses I wHmib 11 #A

(E) o&err Qsfluefdmana
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- 138. Find the missing number

36 216

A) 4
B 9
(C) 49

@) 16
(E) Answer not known

APuLL @Lsos Hruys

36 216

A 4
B) 9
(C) 49

(D) 16
(E) oferL Qpfiueiome

25 125
5
25 126
5
127

GET IT ON
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64

64
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138. Find the missing numbey

T

36 216

(A) 4
®B) 9
(C) 49

BN 16
(E) Answer not known

APuLL QLids Hriys

36 216

@) 4
B) 9
(C) 49

(D) 16
(E) Qevr Qgfwedidae

GET IT ON
Google Play

25 125 ? 64

26 126 2 64
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139. January 1, 2007 was Monday. What day of the week lieg on
January 1, 2008?.

(A) Monday (B) Tuesday

(C) Wednesday (D) Sunday

(E) Answer not known

geneufl 1, 2007 Hus  dpamw aafld garaufl 1, 2008 eadar dpewunrs

IGLICTE
(A) Ausdyew Br Q&GUG)J[TU'_IQIC.QGIDLD
(CR yserdlparo (D) enpmsdpaio

(E) e Qsfwelerenc

140. If 1st January of year 2020 is Thursday then what day of the week
lies on 1st January 20217

(A) Monday (B) Wednesday
(C) Friday (D) Saturday
(E) Answer not known

2020 gereufl 1 <1b Gsd wrpsflpemw eaafld 2021 Rercufl apge pHrar
ereman &lpento ?

(A) Hrser " (B) ygen
(O Qeucrad . (D) saf
(E) oo Qsflweldrenew

n
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